Math 4133 - Linear Algebra
Quiz #2 - 2015.01.15
Name:

Consider the following system of equations:
2x1 —4xo + Dz + 64 =1
—3x1 + 229 + 3 — 4ry = —3
—13x1 4+ 1429 — T3 — 2424 = —11
Txy — 10z + 923 + 1624 =5

1. Express the above system of equations in augmented matrix form.

2. After performing row operations on the matrix, the new augmented matrix is given by:

7 1 5
e
17 5 3
L N
0 0 0 0 0
00 0 00

Express the solution to the original system of equations using this new, but equivalent matrix.

3. What is the dimension of the solution to this system of equations?



